' Canada Goese Scormg Werght at the timeof harvest '
Turkey Scoring = Weight + Right Spur Length X 10 + Left Spur Lengih X 10 + Beard Length X 2
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For Example: 21 and 1/2 pound bird withitwo 5/8" spurs gnd[9 and 1/2 beard scores 53
B25 X 10X 2 85X2
or or
215 + 125 {4 19 = 53

Or use the online calculator at:
hitp://www.nwif.org /all_about_turkeysfturkey_score.html

Bear Scoring = Length of Skull without Lower Jaw + Skull Width at widest point {measured to 1/16ths)
or measurement A + measurement B of the diagrams below
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Deer Scoring = A much more infricate process than will be attempted here. Contact Steye-RBemen for

a copy of the form which has drawings, an explanation, and format for recording and calculating the
point total for your {rophy.

Or use the online calculator at:

hitp:/Awww. boone-crockett . arg/bgRecords/Scoring Your Trophy.asp?area=bgRecords



